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DIPLOMA IN VALUE ADDED PRODUCTS
FROM FRUITS AND VEGETABLES (DVAPFV)

Term-End Examination

June, 2017

BPVI-005 : FOOD MICROBIOLOGY

Time : 2 hours Maximum Marks : 50

Note: Attempt any five questions. Question No. 1 is

compulsory. All questions carry equal marks.
p Ty q Yy eq

1. Define: 10x1=10
(a) Endotoxin
(b) LDy, dose
(c) Reverse osmosis
(d) Fermentation
(e) Water activity
() HTST
(g¢) Sulphuring
(h) Putrefaction
(i) Breather
() Food borne intoxication
2. Write short notes on : 3+4+3=10
(@) Zoonotic diseases

(b)
()

3. (a)

(b)
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Gaseous chemical food preservatives
Commercial sterilization of foods

Classify microorganisms on the basis of
temperature required for growth. 2+3+5=10
What do you understand by SCP (Single

Cell Protein) ?
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(c) What are the desirable properties of food
preservatives and the factors which affect
their anti-microbial activity ?

4. Differentiate between : 2.5x4=10
(a) Exotoxin and endotoxin
(b) Gram positive and Gram negative bacteria
(c) Bacteria and moulds
(d) Abiotic and biotic spoilage

5. Give an account of the various food borne diseases 10
caused by food borne parasites.

6. (a) Give the significance of TDT, D-value and
Z-value in preservation of foods by thermal
processing. 5x2=10

(b)  Give a detailed description of the microbial
spoilage encountered in canned foods.

7.  What is beer ? How does it differ from wine ?
Give in detail the process of beer manufacture.

2+2+6=10
8. (a) How does pH affect the growth of
microorganisms ? 5x2=10

(b) What are the inhibitory substances
developed in foods due to activity of
microorganisms ?
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(a) QeASE! Sl EH Ihg o L sTavash qTH
F YR T il HifoTe | 2+3+5=10
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€2
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FA-9 T ?

3 T IV : 2.5x4=10
(@) ofs: amfaw iR siaufay

(b) I TR R A S Sfang

(c) faTy 3 FH

(d) oTsiEra SR et faspfa
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(a) T FEER R @R fRew # A € F,
F-u IR Sie-AM & wea i fafgn  5x2=10

(b) fesareic @Rl # 3= geAsheta fagfa &1
gigwr g Fifsw |

R @ §? Afeu @ deR R AE A €2 iR
M At 9fsran 1 gfawr fafaa 2+2+6=10
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